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Answer Sheet No.

Sig. of Invigilator.

BIOLOGY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencll.

Q.1  Circle the correct option i.e. A/ B/ C/ D. Each part carrles one mark.

(i)

(ii)

(i)

(iv)

v)

(vi)

(vi)

(viit)

(ix)

(x)

{xi)

{xii)

Which of the following Bioelements is in the highest percentage in protoplasm?
A Carbon B. Hydrogen C. Oxygen D. Nitrogen
Which of the following is not a characteristic of a good hypothesis?

A Must be consistent with all available data

B. Must be testable

C. Must be correct

D. Must make predictions

The function of Mitochendrion is:

A Lipids storage B. Protein synthesis

C. Photosynthesis D. Cellular Respiration

The major component of plant cell wall is:

A Chitin B. Peptideglycan C. Cellulose D. Cholesterol
A related group of generas form:

A order B. family C. class D.  phylum

In which stage of cell cycie do most cells spend their lives?

A. Prophase B. Metaphase C. Interphase D. Telophase
Prosthetic groups are:

A Requried by all enzymes B. Loosely attached with enzymes

C.  Protein in nature D. Tightly bound to enzyme

In which of the followihg steps of respiration is CO, produced?

A Glycolysis B. Krebs cycle
C. Electron Transport chain D. All of these
In stomach pepsinogen is converted into: _
A Pepsin B. Bicarbonate  C. HCl D. Gastrin
Ulcers occur in; '
A Stomach B. Duodenum C. Oesophagus D. All of these
Which of these are responsible for biood clotting'?
A. Platelets B. Erythrocytes C. Neutrophils D. Basophils
Stomota close when guard cells: ,
A Lose water ‘ B. Gain chioride ions
C. Become turgid D. Gain potassium ions

For Examiner’s use only:

Total Marks: 12
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BIOLOGY SSC-I

Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

Note:

Q.3

SECTION — B {Marks 33)

Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)
0 Define the following:

a. Genetics b. Biotechnology c. Entomology
(i) Quantitative Observations are better in biological method. How?

(i) What is meant by hypertonic and hypotonic seolutions?

{iv) Describe the fluid mosaic model of plasma membrane.
(v) Differentiate between the terms extinct and endangered.
(vi) Define co-factor and co-enzyme.

(vii) Justify why viruses are exciuded from five kingdoms system of classification.

(viti) Describe lock and key model of enzyme action.
(ix) What structures and phenomena are involved in the intake of CO, and water by plants?

(x) What is the role of chlorophyll and light in photosynthesis?

(xi) How would you differentiate between bolus and chyme?

(xii) Define the Cohesion tension theory-

{xiii)y  Define systole and diastole-

(xiv)  What are the two main types of white blood cells? How do they differ?
(xv)  Whatis the importance of organic and inorganic fertilizers in agriculture?

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
a. Expizin the structure and functions of Endoplasmic reticulum and Golgi apparatus? (1+2+2)
b. Outline the mechanism of respiration while defining glycolysis, Krebs cycle and electron
transport chain. (05)
a. Relate the importance of biodiversity with natural ecosystem through examples. (2+4)
b. Describe the structure and functions of stomach with labelied diagram. (04)
a. Contrast mitosis and meiosis emphasizing the events that lead to different outcomes. (04)
b. Which four chambers make the human heart and how biood flows through these chambers? (2+2+2)
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Answer Sheet No.

Sig. of Invigilator.

..........................................................................................................................................................................

BIOLOGY SSC-
SECTION - A (Marks 12) -

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(N Which of the following group includes organisms all of which are absorptive in their nutrition?
A Protists B. Animals C. Fungi D. Bacteria
(i) The scientific rame of Frog is:
A. Rana tigrina B. Rosa indica C. Avenasativa D.  Brassica compestris
(i) Mushroom is an example of:
A Bacteria B. Plants C. Animals D. Fungi
(iv) A related group of orders forms:
A genera B. family C. class D. phylum
{v) Which one is endangered specie in Pakistan?
A Star fish B. Indus dolphin C. Black buck D Hangul
(vi) Rough endoplasmic reticulum is the area in a cell where are synthesized.
A Starch B. Proteins C. Lipids D. Nucleic Acid
{vii) The function of Centriole is formation of:
A Cyto skeleton B. Spindle fibres C. Enzymes D. ATP
(viii)  Which of the following stages of cell division is different for animal and plant cells?
A. Metaphase B. Anaphase C. Telophase D. Cytokinesis
(ix) Induced fit model is proposed by:
A De Duve B. Camillo
C. Daniel Koshland D. None of these
(x) What is the end product of glycolysis?
A Carbon dioxide B. Water C. Alcohol D. Alcohol and Lactic acid
(xi) Which disease is caused by the deficiency of vitamin D?
A Rickets B. Short sightedness
C. Less appetite D. Anaemia
(i) A patient with blood group ‘A’ can be given the blood of donor who has:
A Blood group A or AB B. Blood group A or O
C. Blood Group A D. Blood group O

' For Examiner’s use only:

Total Marks: 12

Marks Obtained: |
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BIOLOGY SSC-I 1)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibiy.

SECTION - B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {(11x3=233)
0] Differentiate between Population level and Community level with examples.
(i) a. Define Taxonomy.
b. Draw the Taxonomic Hierarchy.
(iii) Define binomial nomenclature and write its rules.

(iv) Wirite the functions of the following:

a. Golgi apparatus
b. Endoplasmic reticulum
C. Lysosomes
(v) What is muscle tissue and name its types?

(vi) Describe G2 phase.

vii) Apoptosis and Necrosis are phenomenon of cell death. Differentiate them.
viii)  What is the effect of temperature on activity of Enzymes?

ix) Write the main steps involved in Dark reaction.

X) Define fermentation and its types.

What are the functions of Liver?

. X

X
E

What is the difference between White blood cells and Red blood cells?

(
(
(
(
(xi) What are dietry fibres and write their functions?
(
(
(xiv)  Describe the importance of transpiration.

(

Xv) Name the parts labelled A, B, C, D, Eand F  in the foliowing diagram on your answer sheet:

SECTION - C {Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a Write in detail different phases of meiosis I. (08)
b. How is heart prevented? {02)
Q.4 a Write mechanism of respiration. (2+4)
b. Write in detail structure of heart. Draw diagram. (04)
Q.5 a Who proposed the five kingdom system of classification? Explain it. (04)
b. Explain and draw the structure of chloroplast and write down its functions. (2+2+2)
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(i)
(i)
(iin)
(iv)

v)
(vi)
(vii)
(viii)

(ix)

(xi)
{xii)
{xiii)
(xiv)

(xv)
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